a-1 708,888 (1,553,392)
a-2 53,619
b-1 336,514
b-2 10,305
c-1 430,872
c-2 13,194
d-1 82,040( 82,040 + 84,472 + 2,639 =
d-2 84,472 169,151 > 115411
e 2,639 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 115411 (115,411)
r-2 0
r-3 0
r-4 0

1,722,543

212,592
1,722,543
—_— 8.10

212,592




a-1 1,272 (5,391)
a-2 2,717
b-1 196
b-2 419
c-1 251
c-2 536
d-1 12,590 12590 + 24136  + 3=
d-2 24,136 36,729 < 120,306
e 3 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 120,306 (120,306)
r-2 0
r-3 0
r-4 0

125,697

57,618

125,697

2.18

57,618




a-1 1,507 (8,422)
a-2 4,593
b-1 251
b-2 767
c-1 322
c-2 982
d-1 17,860 | 17,860 + 54441  + 6=
d-2 54,441 72307 > 71,718
e 6 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 71,718 (71,718)
r-2 0
r-3 0
r-4 0
80,729
24,038
80,729 236

24,038




a-1 78 (7,566)
a-2 4,737
b-1 19
b-2 1,187
c-1 25
c-2 1,520
d-1 88 88 + 539% + 0=
d-2 5,395 5,483 < 57,705
e 0 -
f 0
g 0
h 0
i 0
] 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 57,705 (57,705)
r-2 0
r-3 0
r-4 0
65,271
28,846
65,271
2.26

28,846




a-1 4,238 (23,156)
a-2 12,270
b-1 748
b-2 2,167
c-1 958
c-2 2,775
d-1 43,845] 43,845 + 126,339 + 9=
d-2 126,339 170,193 < 280,184
e 9 .
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 280,184 (280,184)
r-2 0
r-3 0
r-4 0
303,340
117,534
303,340 -

117,534




a-1 247 (62,814)
a-2 50,887
b-1 25
b-2 5,097
c-1 32
c-2 6,526
d-1 1771 177 + 36433  + 0=
d-2 36,433 36,610 < 107,105
e 0 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 107,105 (107,105)
r-2 0
r-3 0
r-4 0
169,919
81,731
169,919 5 08

81,731




a-1 202 (29,879)
a-2 19,352
b-1 47
b-2 4,481
c-1 60
c-2 5,737
d-1 177 177 + 16916  + 0=
d-2 16,916 17,093 < 103,170
e 0 -
f 0
g 0
h 0
i 0
] 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 103,170 (103,170)
r-2 0
r-3 0
r-4 0
133,049
38,462
133,049 246

38,462




a-1 1,251 (8,310)
a-2 4,034
b-1 314
b-2 1,013
c-1 402
c-2 1,296
d-1 9,553| 9,553 + 24867 + 1=
d-2 24,867 34,421 < 174,865
e 1 .
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 174,865 (174,865)
r-2 0
r-3 0
r-4 0

183,175

82,849

183,175

221

82,849




a-1 2,136 (7,659)
a-2 2,925
b-1 481
b-2 658
c-1 616
c-2 843
d-1 25512| 25512 + 29714 + 50=
d-2 29,714 55,276 < 138,181
e 50 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 138,181 (138,181)
r-2 0
r-3 0
r-4 0

145,840

77,385

145,840

1.88

77,385




a-1 547 (12,337)
a-2 7,605
b-1 123
b-2 1,712
c-1 158
c-2 2,192
d-1 4,283 32,864 + 4=
d-2 32,864 37,151 < 77,815
e 4 .
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 77,815 (77,815)
r-2 0
r-3 0
r-4 0
90,152
41,367
90,152

41,367




a-1 72 (1,425)
a-2 872
b-1 16
b-2 195
c-1 21
c-2 249
d-1 88| 88 + 1,075 + 0=
d-2 1,075 1,163 < 26,230
e 0 .
f 0
g 0
h 0
i 0
j 0
k 0
I
m 0
n 0
0
p
q 0
r-1 26,230 (26,230)
r-2 0
r-3 0
r-4 0
27,655
14,423
27,655 Lo

14,423




a-1 2,296 (9,600)
a-2 4,702
b-1 374
b-2 767
c-1 479
c-2 982
d-1 26,790 | 26,790 + 54875  + 1=
d-2 54,875 81,666 > 61,203
e 1 -
f 0
g 0
h 0
i 0
] 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 61,203 (61,203)
r-2 0
r-3 0
r-4 0
91,266
40,865
91,266 —

40,865




a-1 789 (8,651)
a-2 4,923
b-1 178
b-2 1,111
c-1 228
c-2 1,422
d-1 7321 7,321 + 10,99 + 0=
d-2 10,995 18,316 < 119,226
e 0 .
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 119,226 (119,226)
r-2 0
r-3 0
r-4 0

127,877

41,223

127,877

3.10

41,223




a-1 542 (7,184)
a-2 5,156
b-1 62
b-2 589
c-1 80
c-2 755
d-1 2,856 2,856 + 10466 + 0=
d-2 10,466 13,322 < 71,138
e 0 .
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 71,138 (71,138)
r-2 0
r-3 0
r-4 0

78,322

18,029

78,322

434

18,029




a-1 37 (746)
a-2 522
b-1 5
b-2 77
c-1 7
c-2 98
d-1 446 | 446 + 6290 + 0=
d-2 6,290 6,736 < 16,692
e 0 -
f 0
g 0
h 0
i 0
j 0
k 0
I
m 0
n 0
0
p
q 0
r-1 16,692 (16,692)
r-2 0
r-3 0
r-4 0

17,438

9,615

17,438

181

9,615




a-1 94 (2,770)
a-2 2,013
b-1 13
b-2 278
c-1 17
c-2 355
d-1 88 88 + 1891 + 0=
d-2 1,891 1,979 < 92,959
e 0 -
f 0
g 0
h 0
i 0
] 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 92,959 (92,959)
r-2 0
r-3 0
r-4 0
95,729
17,308
95,729 -

17,308




a-1 1,006 (15,878)

a-2 11,657
b-1 112
b-2 1,298
c-1 143
c-2 1,662

d-1 8,483 98254  + 0=

d-2 98,254 106,737 > 51,148

e 0 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 51,148 (51,148)
r-2 0
r-3 0
r-4 0
122,615
28,846
122,615
4.25

28,846




a-1 112 (2,481)
a-2 1,738
b-1 17
b-2 260
c-1 21
c-2 333
d-1 88 88 + 1376 + 0=
d-2 1,376 1,464 < 23,257
e 0 -
f 0
g 0
h 0
i 0
] 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 23,257 (23,257)
r-2 0
r-3 0
r-4 0
25,738
10,577
25,738 ) 43

10,577






